Bellwork  Hon Alg2  Monday, November 14, 2016

Find the exact solutions to each equation.
1. 4(x+3)>-10 =118 2. 36x2+30x =124

—

3. Afarmer has 1500 feet of fencing to create a rectangular enclosure with a fenced divider in the
middle to create two equally sized rectanglular pens for his livestock. Find the dimensions of this
rectangular enclosure that will maximize the area of the two pens. Also, state the maximum area.

Bellwork HonAlg2  Monday, November 14, 2016 @

Find the exact solutions to each equation.

1. 4(x+3)2—10 = 118 \ 2. '36x2+30x = 24
+io Fo Y= -3E4(2 ) -~y
=28 3t t3ex-24=0

| () =22
—————— (‘a z. L - ’_L’ —
\/" b ( il )

/—-” 3x 4 —
5 s . -
\( >)</ 21| byF| +5X é (37\1“4) (LK ') —
X5
S

w3) -
= [ -3« —'Lf_! m

Xr3= * (= M
)

3. A farmer has 1500 feet of fencing to create a rectangular enclosure with a fenced divider in the

middle to create two equally sized rectanglular pens for his livestock. Find the dimensions of this

rectangular enclosure that will maximize the area of the two pens. Also, state the maXImum area.
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